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Chapter 5, Section 5.4, Question 33
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The figure above gives your velocity during a trip starting from home. Positive velocities take you away from home and |
you toward home. J/
Round your answers to the nearest integers. —_ q 2f¢)
~
i (7 _ 19 22X (67>
Where are you at the end of the hours? / (/L (
2 3

Distance from home is 63

When are you farthest from home?

} hours.







Chapter 5, Section 5.5, Question 8

The marginal cost function of producing @ mountain bikes is

, ! | ') = gage cov
3) = P B3)-C03) — _ gee. =26~ T 3
Fesn ) = ap- S5 y

(a) If the fixed cost in producing the bicycles is $2500 , find the total cost to %ﬁuce 30 bicyga‘s/. (ég a L/
(
Enter an answer to two decimal places. C (30’) = 6(6) + C (7’)0'?
o

. 0 coo
 H55T 2 = 2520 & S?a‘nyrd?

(b) If the bikes are sold for $210 each, what is the profit (or loss) on the first §o bicycles?

Enter an answer to two decimal places.
~ Y557 238
- ' Y4

§

(c) Find the marginal profit on the 31 st bicycle.

Enter an answer to two decimal places.
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